
 

testbed

Quiz

1 Why is it harder to adapt the perception
algorithm to handle the weighted classification

case

2 The band for AVA is 2 KDE the bond
for OVA is ht E Is OVA always better

Why or why not



Reductions

Don't solve complicated problems from zero

find a way to charge a bad problem
into an easy problem and then analyze
the damage

what are the hard problems

Different errors for different outcomes

Multiple classes

what are the error rates ya are gettingfor perceptron on primary tumor



OVA One versus All

Thm If average binary error is E then
OVA has error rate at most Kt E

fo x Dt or 1 Assume
y
O

f G 1 or

Fz CD 1 or
Fg t 1 of

False negative false positive mofthem

fo x H or D fo x Dt or 1

f G 1 or f G 7th or I

f z x 1 or felt 1 or
Fg t l or fog t l or

K DIK chanceofmistake chance of mistake but



s a Mtl
AVA requires in errors

Thm If average binary error is E then
AVA has error rate at most 2 K DE



Binary tree
1234 vs 5678

12 vs 34 56 78

I l I l
l us 2 3 vs 4 8 vs 6 7 vs

Different interpretation
Each level predicts binary
digit of label



Error corroding output codes

Hamming 7 4 code

A d n da A dy
Ba d h dis A dy
G da A dy r dy
D d

E da

Fa dy

G dy

can detect and fix any 1 bit

error on 7 bit word



Weighted classification

Accuracy 2 FCI y I fees nya

d 1 weight
Kiki ay03

Weighted Accuracy 2 A yet r FCI 0 t

FCI L A y o


